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1. 20% For an ideal op amp which one of the following characteristics is not correct?
(A) infinite input resistance
(B) infinite output resistance
(C) infinite differential voliage gain
(D) zero input offset voltage
2. 20% Suppose the diode in the following circuit is ideal. Try to draw Vo(t) waveform.
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3. 20% In the following BJT circuit, try to select the Rg value such that the BJT will operate in the saturation region. Suppose
B torce=10.

4. 20% In the following circuit, assume Vgg=0.7V and p=100. Solve Ig, I¢;, Iz and V¢ values?
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5. 20% In the following circuit, Vie= 1V, K= IOOpA/VZ, and A=0. Find V,?
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